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1 Introduction

In the last RAN4 meeting, following two steps approach was agreed to consider the minimum requirements of “Enhanced Requirements type 2” with Closed Loop Transmit Diversity [1]. 
1) Get results according to simulation assumptions (no implementation impairments) first and compare with Rake performance.

2) Verify for which cases we need additional requirements and then produce results including implementation impairments for those cases only.

In this document, we first show the throughput performances of FRC test for both “LMMSE Equalizer and Rake receiver with Closed Loop Transmit Diversity without implementation impairments. Next, we propose simulation assumptions, which seem appropriate test points for producing results including implementation impairments. And last we propose minimum requirements for that test points. 
2 Simulation results for LMMSE Equalizer and Rake receiver with CL Tx-diversity
We show our simulation results of Fixed Reference Channel H-Set 6 with Closed Loop Tx-diversity in figure1 to figure 6. 4% feed back error rate was assumed in this simulation. 
We can find from these figures that LMMSE equalizer has sufficient gain compared with Rake receiver in PB3 and VA30 channel model, especially in high Ec/Ior area. In low Ec/Ior area, though there is a still gain in PB3, performance gain is almost lost in other channels. Thus we think following two assumptions are appropriate for test points and we show our simulation results including implementation impairments in table1.

· Pedestrian B 3km/h with HS-DSCH Ec/Ior = -3dB

· Vehicular A 30km/h with HS-DSCH Ec/Ior = -3dB
[image: image1.png]3500

3000

2500

)
=3
=3
=3

Throughput (kbps)
I
=
=3

=)
=3
=3

500

H-set 6, 16QAM (PA3)

—

——Rake + CL1
= LMMSE + CL1

HS-DSCH Ec/Ior (dB)




[image: image2.png]Throughput (kbps)

H-set 6, 16QAM (PB3)

2000
1500 /
. +
1000 / Rake + CL1
= LMMSE + CL1
500
o . . . . . .
-10 - -8 -7 -6 K 4 3 2

HS-DSCH Ec/Ior (dB)




Figure1 Pedestrian A results for 16QAM.
 
   Figure2 Pedestrian B results for 16QAM
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Figure3 Vehicular A 30km results for 16QAM.
   Figure4 Pedestrian A results for QPSK
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Figure5 Pedestrian B results for QPSK.
 
   Figure4 Vehicular A 30km results for QPSK
Table1 Throughput for Enhanced Requirements type 2 with Closed Loop Tx Diversity included implementation impairments H-Set 6 (I^or/Ioc=10dB) 

	Channel Type
	Modulation Type
	
[image: image7.wmf]c

or

E

I

(dB)
	Throughput
Specification
(kbps)

	PB3
	16QAM
	-3
	950

	
	QPSK
	-3
	1450

	VA30
	16QAM
	-3
	590

	
	QPSK
	-3
	1150


3 Conclusions
In this document we compared simulation results of FRC test between LMMSE Equalizer and Rake Receiver with Closed Loop Transmit Diversity. From the comparison we proposed test assumptions for producing results including implementation impairments and we showed our simulation results. We would like to discuss the final value of minimum requirements.
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